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11,02 1099 1093 11.01 10.98 1094  11.02
11.01 1099 11,00 11,07 1098 10,97 10.99
10,96 11,02 1097 1098 11,00 1097 11.05
1095 11.00 11.02 1099 1098 11,00 10.98
11.05 11,00 1098 10.97 11,01 11.07  11.06
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* 3-4

415 295 40,5 235 345 395 37
20,5 325 26 33 24 36 14,5
25 32 345 42 37 45 31
31 4.5 295 505 39 55 57
34 49.5 315 30 38 18 27
295 27 435 39 37.5 15 33
36,5 525 24 53 35 455 295
16 395 425 415 505 325 325
46.5 305 26 305 215 64 68
58 56 375 475 38 345 435
37 57 43 365 24 18.5 425
335 295 215 4 20 155 26
375 285 2.5 405 18 125 13
275 245 195 39 375 495 19
285 375 115 325 35 47,5 415
505 235 28 13.5 26 11 12
425 365 395 24 335 455 595
38 425 355 18 425 475 385
46,5 40 395 595 375 445 35
56.5 595 485 505 375 24 39.5
46.5 275 45 4.5 31 435 415
38.5 36 48,5 36 375 365 445
105 37 - 28
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B 3-7
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